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(1) (BHol) = 2x(EHol)+(FH°l)
=2x(mx2%) +21x2x%x4
= 871 + 167 = 247( cm?)

(2) (BHol) = 2x(ZH)+(FHel)
=2x (7x3%) +27x3x6
= 187 + 36 = 54n(cm?)
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(1) (BHol) = 2x(EHol)+(FH°l)
=2X (mx4%) + 27 x4 X 12
= 327 + 96 = 1287( cm?)

(2) (BHol) = 2x(ZHl)+(FHel)
=2x (7x3%) +27x3x6
= 187 + 36 = 54n(cm?)
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Hu=3x4x 3 %5 = 30( cm®) ©]t}.
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Aol (3 x4 % 5) X2+ (3+4+45)x5 = 12460 = 72( cm?)
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E8X8Xx=4%x4x%x4,
64x = 64

. x=1lcm
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(@) 1447 cm? ® 1487 cm?

U] Yol= nrx (42 - 22) = 121(cm?)
BYOl= 127X 2+ 27X 2X 10+ 21 x4 x 10
= 247 + 407 + 80 = 144n(cm?)
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S =2x (7x42 =1 x2%) 4+ 87 X 6 + 47 X 6 = 967( cm?)
V=nx4?>x6-nx2%x6="72r(cm?)
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= 61 + 141 + 42 = 207 + 42(cm?)
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S = ar? + nrl = 167 + 367 = 52ncm?
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(1) 9A 2] 20m9) o] Rjo} gonz
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37X P = %ﬂ'( cm?)

(2) nx 22 x 3 = 127(cm?)

32 68
(3) St 12 = gﬂ( cm?)




